Question  1. Question 11 (in sample): Why is a covenant (rather than an easement) the land-use control device that would be most likely to implement Owner's scheme to preserve the residential character of Royal Oaks subdivision and be most readily acceptable to purchasers? Is it because negative easements have historically been limited to just a few enumerated categories and covenants can be about essentially anything?
Answer 1. Yes, and I might add: Covenants are the way we do subdivision developments in the U.S., thus making it less likely that purchasers will object. Covenants are more flexible (you got that). They can have a mechanism for change built into them. The magic of the common plan means that who has the benefit is not normally an issue. Unlike easements, they are subject to the doctrine of changed conditions. (You might be interested in knowing that this question appeared on a multi-state bar exam a few years ago.)
Question 2. Question 17 (in sample): Since we're in equity, shouldn't e be the correct answer?

Answer 2. Both d and e are correct in that Beta will probably win. What is wrong about answer e is that it says that the covenant does not run at law. That it does is not relevant to the action, but it’s wrong; whereas everything that is said in answer d is correct.
